ECS 455: In-Class Exercise # 16

Instructions

Separate into groups of no more than three persons.

The group cannot be the same as any of your former groups in this class.
Only one submission is needed for each group. Name ID (st 3 i)
Write down all the steps that you have done to obtain your answers. You P rap un - 5/5]5

Eol N

may not get full credit even when your answer is correct without showing
how you get your answer.
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The codes for other users are unknown.

Suppose the received vectoris r=(-3 1 1 1 3 -1 1 1). L‘l S LN IR I B | -l]

(@) ¢ =[1-11-1]

o Note HeaY OVSE codes wie On\/v t4.
B ™= [1-1111114] Tobore, _
c 2 ) ELN,JJ > = N

(L1 L'\"hr_ \cﬂj‘\'h of tre code

(c) Recover the message(s) foruser 1. Use. 1 wses code [
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(d) Recover the message(s) for user 2. User 2 uvies code & .
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Becawvse we assume Yhat there 12 no nOWeE nor M:ﬂj in OOy CDMA

a-«al,si:, there most be mcsmjc(_S) Lo ax leauky one move user.



